BCEPOCCHMCKAS OJIMMITHAJIA ITKOJIBHUKOB 11O
AHTJIMMCKOMY S3BIKY

MYHUIIMIAJIBHBIA DTAII
9-11 KJIACCBI

KpuTtepunu onileHUBAHHA H CXeMa M0ACYeTa 0AJ1JI0B

I. Listening — makcumaipHOE KOJIM4YECTBO OayLioB 16.

3ajanue MpoBEPSETCA MO KIF0UaM.

Kasxprit mpaBUIbHBIN OTBET OlleHUBaeTcs B 1 Ga.

3a HEeBEpHBI OTBET WJIM OTCYTCTBUE OTBETA BhICTaBisieTcs ) Oamios.
Il. Reading — makcumasbHoe KosuuecTBO 6amios 10.

3ajaHue MpOBEPSETCS MO KIIF0UaM.

Kasxiprit mpaBUIbHBIN OTBET OlleHUBaeTcs B 1 Ga.

3a HEeBEpHBIN OTBET WJIM OTCYTCTBUE OTBETA BhIcTaBisteTcs 0 Oamos.
I11. Use of English — makcumansHOe KonndecTBo GayuioB 27.
3agaHue MpOBEPSIETCS MO KITK0YaM.

Kasxprit mpaBuIbHBIN OTBET OlleHUBaeTcs B 1 Ga.

3a HEBEPHBIM OTBET WJIM OTCYTCTBHE OTBeTa BhIcTaBisieTcs 0 6aymioB. B Bompocax 1-9 u 19-27
yauThIBaeTCs opdorpadusi.

[Tpu Hanuuuu opdorpaduyeckoit ommOku 6asa He HaYUCISETCS.

IV. Writing — makcumanbHoe KosndecTBo 6amios 10.

3aganue oneHUBaeTcs o Kpurepusm onieHUBaHUs.

[Ipu noaBeaeHnN UTOTOB OAJTBI 32 BCE KOHKYPChI CYMMUPYIOTCS.

MakcumajibHOe KOJIHYeCTBO 0AJIJI0B 32 BCe KOHKYPCHI — 63 OaJia.
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LISTENING (16 points)
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LISTENING: JUSTIFICATIONS

PART 1
Extract 1
1. C - He was ill but didn’t die. Jane says the writer had been seriously ill. Bill argues; “...it
was touch and go for a while”. This means he almost didn’t survive.
2. B —“TI’ve seen quite few of his plays and this one was completely different...” and “He
really seems to be a different character to when he first started to write”.

Extract 2
3. B — Pablo says stores of the same group seemed to attract each other, while stores from
different groups repelled each other.
4. C - Pablo goes on to say that during a two-year period they his theory and it was found to
be correct. The Lyon Chamber of Commerce is even using the model to help
entrepreneurs identify promising new premises.

Extract 3
5. C - Costa de la Cruz has been nicknamed ‘the Spanish Algrave’ as it’s in close proximity
to Portugal.
6. B — “...more homes will be built soon” however “the government is being careful to
preserve the natural beauty and character of the place”.

PART 2
Task 1

1. D — “other institutions” — indicates it is a big organization and not a vet. “We are
protecting different species for future generations to enjoy”, and this is the work of a zoo.

2. C — Speaker 2 now lives in “sheltered housing” which provides help for old or disabled
people. “I’d be tempted no to leave the house at all some days....” means that the speaker
does not work. He keeps me young at heart” indicates the speaker is not physically
young. Could also be G, but this is not the best choice because no mention is made of the
dog guiding the man.

3. G — the speaker’s “life would be totally different” without the animal and “We couldn’t
do without each other” indicate the person is dependent on the animal in some way.
“She’s doing a job” indicates that the animal is probably a guide dog, and the speaker
blind.

4. A —“T have one patient that is seriously allergic to her dog...” indicates the speaker is a
doctor.

5. B — The speaker says “Some people may not approve of what I do or they may wonder
how I can be so brave” and we also learn that the speaker is involved in “a show”. A
circus is the only show there to choose, and could indeed be controversial and dangerous.

Task 2

6. C — “We’re doing some wonderful things in the way of conversation and we are linked
up with satellites and with other institutions worldwide to keep track of certain species
The value of this work cannot be underestimated”.

7. H —“T"d be tempted not to leave the house at all some days” and “On the whole, I prefer
my own company’’.

8. G — “What we could do without is people on the street coming up to us and causing a
distraction” and “people don’t stop to think”. Choice A is not correct because it is too
strong; the speaker “can understand why it happens”.



9. F - “I have one patient who is seriously allergic to her dog but she insists on keeping it.
Now that to me doesn’t make any sense at all”.

10. B — “It’s to do with years of training and experience and knowing what you are doing.
There’s no room for error in this job”.

READING (10 points)

TASK ONE
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USE OF ENGLISH (27 points)

TASK ONE

. SIGNIFICANTLY

. CLIMATOLOGISTS
. INCREASINGLY

. FINDINGS

. ABSORPTION

. MEASUREMENTS
. WORLDWIDE

. UNBELIEVABLE

. PROBLEMATIC
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TASK TWO
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TASK THREE

19. ever

20.0n

21. fact/short

22. exactly/precisely
23. could/should

24. doing

25. some/any

26. actually/really
27.0n

READING: JUSTIFICATIONS

1. C — NOT STATED - People send them to express sympathy, to apologise, or just wish
someone well.

2. B — FALSE - The Netherlands is the traditional centre of flower production in Europe,
and remains a major supplier of flowers

3. A — TRUE - Meanwhile, the Kenyan cut-flower industry has grown rapidly, and now
provides a vital income for around two million people. It is the country’s largest
agricultural foreign exchange earner after tea, producing £165 million annually

4. A — TRUE - For the environmentally conscious, it might seem wasteful that a commodity
such as flowers should travel halfway around the world before arriving at a supermarket
or florist shop. Just as some environmentalists say that it’s better to buy fruit and
vegetables grown locally

5. B — FALSE - the UK cut-flower industry now supplies just ten per cent of the country’s
needs

6. B — FALSE - Research published in 2006 by Cranfield University in the UK showed that
the production of Kenyan flowers, including delivery by air freight and truck, resulted in a
carbon footprint nearly six times smaller than that caused by the production of Dutch
flowers

7. A — TRUE - the Netherlands and other developed countries require significant inputs of
gas and electricity to grow flowers year-round in artificial climate-controlled environments
8. B — FALSE - Lake Naivasha, the centre of Kenya’s flower industry

9. A - TRUE - Lake Naivasha itself has shrunk to half its original size, with water levels
dropping by three metres

10. A — TRUE - but mixing flowers is often inadvisable because some varieties emit gases
that spoil others

USE OF ENGLISH: JUSTIFICATIONS (27 points)

TASK ONE

1. SIGNIFICANTLY - adverb needed

2. CLIMATOLOGISTS — noun + plural form

3. INCREASINGLY - adverb needed

4. FINDINGS — nountplural; the meaning is “results of research”

5. ABSORPTION — abstract noun needed

6. MEASUREMENTS — noun; meaning is “a value, discovered by measuring”
7. WORLDWIDE — adverb; meaning is “all over the world”



8. UNBELIEVABLE - adjective with a negative meaning, “impossible”
9. PROBLEMATIC — adjective needed

TASK TWO

10. B — TAKE - ‘take it easy’ is a set phrase

11. C — REVEALS — meaning: shows/conveys the results

12. D — IMPACT — meaning: influence; used with the preposition ‘on’ (impact on smth/smbd)
13. B— CONSUMPTION — meaning: the amount used or eaten

14. D — OPT — meaning: choose, prefer; used with the preposition ‘for’ (opt for)

15. A — INTAKE — meaning: the amount of a particular substance that is eaten or drunk during a
particular time

16. C — FINDINGS — meaning: results

17. B—-BODY — meaning: a large amount of something; collocation “a body of evidence”

18. C — TERMS — set phrase: in terms of smth

TASK THREE

19. ever — emphasizing, meaning: at any time

20. on — “concentrate on” — prepositional verb, usually followed by the preposition ‘on’

21. fact/short — linking words used to illustrate, summarize the points

22. exactly/precisely — adverbs of manner, used in a postposition to a verb

23. could/should — modal verbs, expressing suggestion/possibility/speculation

24. getting/doing — present participles that replace a part of a first conditional sentence: if we do
it right

25. some/(any) physical symptoms — a “generalizing” phrase that introduces a list of (examples
of) such symptoms

26. actually/really — adverbs used for linking and expressing reality

27. on — miss out on — idiom — to lose the chance to do/achieve smth



WRITING (9-11 knaccsl) - KPUTEPUU OHEHUBAHUS

WRITING (10 points)

MakcuMaibHoOe KoJau4ecTBo 0a/L1oB: 10

BHumaHue! Mpu oyeHke 0 no Kpumepuro «PK3» ebicmaenaemca obwjas oyeHka 0.

PEIIEHUE KOMMYHUKATHUBHOM 3ATAYN
(makcumyMm 3 06aJia)

OPI'AHU3AIUA U A3BIKOBOE O®OPMJIEHUE TEKCTA

(Makcumym 7 6aJ1J10B)

TeKCTa (MAKCUMYM

Opranusanus

2 0aj1a)

Jlekcuka
(MakcuMyMm

2 6aj1a)

I'pamMmartuka
(MakcuMyMm

2 6aj1a)

Opdorpadpus u
NMYHKTyanus

(makcumym 1 6as1)

3 0aaaa

KoMMyHHKaTHBHAS 3aj7ada IMOJTHOCTHIO BBITIOJIHEHA —
HaIMcaHa PeleH3us 10 3a/JaHHBIM ITapaMeTpam.
VYyacTHUK c00JII01aeT 0COOEHHOCTH YKaHpa PEICH3UN;
PEIICH3MS OIICHUBACTCS IO CIICIYIOIIUM aCIIeKTaM:

1) y4acTHUK MPHAEPIKUBACTCSA HEHTPAIBHOTO CTHIIS
MMHCHhMa;

2) y4YaCTHHK IOJPOOHO OMHKCHIBAET YKa3aHHBIC B
3aJIaHUU TIPEMETHI /ACHCTBHS / TOKAIIHH;

3) y4aCTHUK apryMEHTHPOBAHHO OOBSICHSET, MOYEMY
OH/OHA PEKOMEHJYeT TOT WM MHOU 00BEeKT / AelicTBue /
JIOKAIUIO.

O0bemM paboThl OO COOTBETCTBYET 3aJaHHOMY, JHOO
OTKJIOHSETCSA OT 3amaHHoro He Oonee, demM Ha 10%

(B CTOpOHY yBenuueHus — He GoJabme 187 ciol) nnm

Ha 10% B cTopoHy ymeHbmeHus (He MeHbIIe 135 cioB).

! Ecnn penensust cocrout 3 188 umm Gonee ci1oB, NpoBepke nopiexart nepsbie 170 cnos.




PEINIEHUE KOMMYHUKATHABHOM 3AJTAYH

OPTAHM3AIINSA U SAI3BIKOBOE O®OPMJIEHUE TEKCTA
(Mmakcumym 7 0aJ1J10B)

(MARCINMYM 3 Gaiia) Opranusanus Jlekcuka I'pammartuka Opdorpadpus u
TeKCcTa (MAKCUMYM (MakcumMym (MakcuMym NYHKTyanusi
2 6an1a) 2 6ass1a) 2 6ang1a) (makcumym 1 6aswn)
2 6an1a 2 pajia 2 danna 2 dana
KomMyHukaTuBHAsi 3aJa4va BBIIOJHEHA YAaCTHYHO — | TekcT mpaBUIIBHO B pabote umerotcs YyacTHUK
COCTaBJICHHBIM TEKCT SIBJISIETCS PEICH3WEN C 3aJaHHBIMH | pa3jiesieH Ha ab3arel. | 1-2 nexcudeckue JIEMOHCTPHUPYET

napamerpamMu. OHaKO B paboOTe HE BBHINIOJHEH OJMH | JIorWka MOCTpOCHHS | ONIMOKH. rPaMOTHOE U
13 MIEPEUYHCIICHHBIX BBIIIE ACIIEKTOB. TEKCTa HE YMECTHOE
HapyIlIeHa. ynotpebiaeHue

rpaMMaTHYECKUX

CTPYKTYP.

PaboTa nmeer

1-2 rpammaru-

YeCKHeE OLIMOKH.
1 6aaa 1 6aan 1 6aan 1 6aan 1 6aaa
KoMmyHukaTuBHasi 3ajJada BBINIOJHEHA 4YacTUYHO — | MMerorcs B pabore umerorcs B pabore umerorcst | B pabore
COCTaBJICHHBIM TEKCT SBJISCTCS PEICH3UCH C 3aJIaHHBIMHU | OTIAC/IbHBIE 3-4 nexcuyecKue 3-4 rpammaTH- nmerores 1-4
napamerpamu. OgHako B paboTe HE BBIMOJIHEHBI JBa | HAPYIICHHUS OIIINOKHU. YeCKHE OIINOKH. opdorpadpuyeckue
13 TIEPEUNCIICHHBIX BBIIIE ACTICKTOB. JIOTUKH WU W/WJIH TyHKTYyallnoH-

363aI_IHOl"O YIICHCHUA

Tekcra (1-2

HapyUIeHUs).

HBIE OIIUOKH.




PEIIEHUE KOMMYHUKATHABHOM 3AJTAYH

OPITAHU3ALIUA U A3BIKOBOE O®OPMJIEHUE TEKCTA

(MakcumyMm 7 6aJ1J10B)

G RCIYM3 L) Opranusauus Jlekcuka I'pammartuka Opdorpadpus u
TeKceTa (MAKCUMYM (MakcumMym (MakcumMym NYHKTYyanust
2 6aj1a) 2 6aj1a) 2 6aj1a) (makcumym 1 6aswn)
0 6ass10B 0 damnoB 0 da10B 0 6a/10B 0 6as10B
KommyHukaTuBHast 3a/aua He BBIIIOJIHEHA. | IMeroTcs B pabote umerorcs B pabore umerorcs | B pabote umerorcst
TexkcT He ABIAETCS PENCH3WCH WJIM COACPKAHHE | MHOTOYMCICHHBIE MHOTOYHCIICHHBIE MHOTOYHCJICHHBIE | MHOTOYHCIICHHBIC
HAaITMCAaHHOTO  TEeKCTa  He  OTBEYAeT  3a/IaHHBIM | HAPYIICHUS JIOTHKH | JICKCHYCCKHE rpaMMaTHYECKUE opdorpaduueckue
rapaMmeTpam. WK a03aIHOTO OIIMOKHU OIIMOKHU u/unu
Wnu He BBINOJHEHBI TPU MEPEUNCIICHHBIX BBIIIE aCHEKTa. | YWICHCHHUS TEKCTa (5 u 6onee). (5 u bonee). MYHKTYaIMOHHBIE
WNnu: o6bem MeHee 135 cnos. (3 u 6onee OLIMOKH
HapyIICHHN ). (5 u bonee).




